CONTRACT NO. 8717

DATE: 2/8/24				Integrity	
	0 "		Parisi Construction, LLC		Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price
Section B: Proposal					
201.0105 - Clearing - STA	36.00	\$890.00	\$32,040.00	\$844.00	\$615.83
201.0120 - Clearing - ID	518.00	\$33.50	\$17,353.00	\$31.65	\$47.35
201.0205 - Grubbing - STA	36.00	\$560.00	\$20,160.00	\$527.50	\$287.37
201.0220 - Grubbing - ID	518.00	\$11.25	\$5,827.50	\$10.55	\$27.60
204.0100 - Removing Concrete Pavement -					
SY	3527.00	\$20.25	\$71,421.75	\$6.10	\$28.15
204.0150 - Removing Curb & Gutter - LF	5320.00	\$9.80	\$52,136.00	\$7.59	\$8.45
204.0155 - Removing Concrete Sidewalk -					
SY	7860.00	\$9.90	\$77,814.00	\$6.94	\$13.25
204.0185 - Removing Masonry - CY	9.00	\$99.00	\$891.00	\$106.21	\$236.00
204.0195 - Removing Concrete Bases -					
EACH	18.00	\$720.00	\$12,960.00	\$469.02	\$600.00
204.0220 - Removing Inlets - EACH	13.00	\$1,200.00	\$15,600.00	\$923.19	\$678.00
204.0245.01 - Removing Storm Sewer - 12		. ,	. ,		
inch or less - LF	119.00	\$80.00	\$9,520.00	\$45.17	\$114.00
204.0245.02 - Removing Storm Sewer - 15		,	, , , , , , , , , , , , , , , , , , , ,	•	,
inch - LF	3.00	\$99.00	\$297.00	\$95.19	\$925.00
204.0291.S - Abandoning Sewer - CY	5.00	\$490.00	\$2,450.00	\$543.27	\$915.00
204.9090.S.04 - Removing Retaining Wall -	0.00	Ψ100.00	φ2, 100.00	φο τοι.Στ	φο το.σσ
LF	368.00	\$19.25	\$7,084.00	\$38.31	\$6.40
205.0100 - Excavation Common - CY	5013.00	\$38.75	\$194,253.75	\$53.75	\$39.87
208.0100 - Borrow - CY	1241.00	\$5.30	\$6,577.30	\$10.00	\$66.50
211.0101 - Prepare Foundation for	1241.00	ψ5.50	ψ0,377.30	ψ10.00	ψ00.50
Asphaltic Paving (project) - EACH	1.00	¢0.04	¢0.01	¢ E00.00	¢4 224 00
211.0201 - Prepare Foundation for	1.00	\$0.01	\$0.01	\$500.00	\$1,234.00
	1.00	¢0.04	¢0.01	¢ E00.00	¢2 245 00
Concrete Pavement (project) - EACH	1.00	\$0.01	\$0.01	\$500.00	\$2,345.00
305.0120 - Base Aggregate Dense 1 1/4-	7000 00	#00.75	#477.005.00	# 40.00	400.05
Inch - TON	7820.00	\$22.75	\$177,905.00	\$42.00	\$23.25
405.0100 - Coloring Concrete WisDOT	0.00	* 400.00	#700.00	# 400.00	# 400.00
Red - CY	6.00	\$130.00	\$780.00	\$190.00	\$180.00
415.0100 - Concrete Pavement 10-Inch -					
SY	1702.00	\$120.00	\$204,240.00	\$120.00	\$228.43
415.2010 - Concrete Truck Apron 12-Inch -					
SY	20.00	\$170.00	\$3,400.00	\$140.00	\$140.32
415.4100 - Concrete Pavement Joint					
Filling - SY	2384.00	\$8.60	\$20,502.40	\$8.10	\$8.10
416.0610 - Drilled Tie Bars - EACH	1026.00	\$13.25	\$13,594.50	\$15.00	\$11.46
416.0620 - Drilled Dowel Bars - EACH	304.00	\$26.75	\$8,132.00	\$20.00	\$22.00
455.0605 - Tack Coat - GAL	2020.00	\$0.01	\$20.20	\$3.00	\$3.00
460.2000 - Incentive Density HMA					
Pavement - DOL	1770.00	\$1.00	\$1,770.00	\$1.00	\$1.00
460.5224 - HMA Pavement 4 LT 58-28 S -					
TON	2075.00	\$93.00	\$192,975.00	\$87.50	\$87.50
460.6224 - HMA Pavement 4 MT 58-28 S -		•	•	•	•
TON	642.00	\$130.00	\$83,460.00	\$123.50	\$123.50
520.8000 - Concrete Collars for Pipe -		,	. ,	,	
EACH	13.00	\$1,400.00	\$18,200.00	\$1,814.56	\$1,050.00
=	. 3.00	Ţ ., .UU.UU	Ţ, 00.00	÷ .,5	+ -,

CONTRACT NO. 8717

DATE: 2/8/24					
Item	Oughtitus		Struction, LLC	Integrity Grading & Excavating, Inc	Speedway Sand & Gravel, Inc.
	Quantity	Price	Extension	Price	Price
601.0105 - Concrete Curb Type A - LF 601.0110 - Concrete Curb Type D - LF	50.00	\$44.25	\$2,212.50	\$58.00	\$55.64
601.0407 - Concrete Curb & Gutter 18-	410.00	\$35.75	\$14,657.50	\$51.00	\$55.17
601.0409 - Concrete Curb & Gutter 30-	714.00	\$40.50	\$28,917.00	\$45.00	\$51.27
Inch Type A - LF	2720.00	\$39.50	\$107,440.00	\$51.00	\$55.64
601.0411 - Concrete Curb & Gutter 30-	2720.00	φ39.30	φ107, 44 0.00	φ51.00	φυυ.υ4
Inch Type D - LF	2940.00	\$39.25	\$115,395.00	\$51.00	\$55.17
601.0581 - Concrete Curb & Gutter 4-Inch		ψουο	ψσ,σσσ.σσ	Ψοσο	Ψσσ
Sloped 30-Inch Type R - LF	70.00	\$46.25	\$3,237.50	\$58.00	\$58.74
601.0600 - Concrete Curb Pedestrian - LF	547.00	\$75.00	\$41,025.00	\$51.00	\$48.63
602.0410 - Concrete Sidewalk 5-Inch - SF	16595.00	\$9.80	\$162,631.00	\$10.00	\$12.57
602.0420 - Concrete Sidewalk 7-Inch - SF	12232.00	\$17.75	\$217,118.00	\$11.00	\$13.35
602.0515 - Curb Ramp Detectable					
Warning Field Natural Patina - SF	2360.00	\$54.00	\$127,440.00	\$50.00	\$47.00
602.0865 - Concrete Driveway HES 7-Inch					
- SY	1320.00	\$110.00	\$145,200.00	\$105.00	\$81.47
608.0312 - Storm Sewer Pipe Reinforced					
Concrete Class III 12-Inch - LF	226.00	\$120.00	\$27,120.00	\$297.63	\$229.95
611.2004 - Manholes 4-FT Diameter -		******	***		
EACH	5.00	\$2,200.00	\$11,000.00	\$3,685.39	\$6,230.00
611.3230 - Inlets 2x3-FT - EACH	11.00	\$2,900.00	\$31,900.00	\$2,900.79	\$5,730.00
611.8110 - Adjusting Manhole Covers -	26.00	¢640.00	¢24.060.00	¢4 620 60	<u> </u>
EACH 611.8115 - Adjusting Inlet Covers - EACH	36.00 44.00	\$610.00 \$490.00	\$21,960.00 \$21,560.00	\$1,639.68 \$1,639.68	\$525.00 \$280.00
611.9710 - Salvaged Inlet Covers - EACH	15.00	\$490.00 \$490.00	\$7,350.00	\$430.60	\$280.00
612.0212 - Pipe Underdrain Unperforated	13.00	ψ490.00	φ1,330.00	ψ430.00	Ψ293.00
12-Inch - LF	59.00	\$70.00	\$4,130.00	\$85.57	\$211.25
619.1000 - Mobilization - EACH	1.00	############	\$1,012,112.59	\$675,000.00	\$1,629,290.00
620.0300 - Concrete Median Sloped Nose -			+ ·, · · · · · · · · · · · · · · · · · ·	* • • • • • • • • • • • • • • • • • • •	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
SF	2081.00	\$13.00	\$27,053.00	\$18.00	\$16.51
624.0100 - Water - MGAL	154.00	\$5.00	\$770.00	\$60.00	\$1.00
625.0100 - Topsoil - SY	16380.00	\$7.50	\$122,850.00	\$14.00	\$13.10
627.0200 - Mulching - SY	327.00	\$2.10	\$686.70	\$2.00	\$1.00
628.1504 - Silt Fence - LF	2195.00	\$2.10	\$4,609.50	\$2.00	\$1.95
628.1520 - Silt Fence Maintenance - LF	2195.00	\$0.01	\$21.95	\$0.01	\$0.01
628.1905 - Mobilizations Erosion Control -					
EACH	18.00	\$1.10	\$19.80	\$1.00	\$150.00
628.1910 - Mobilizations Emergency		** **	4	*	4
Erosion Control - EACH	7.00	\$1.10	\$7.70	\$1.00	\$150.00
628.2006 - Erosion Mat Urban Class I	40000 00	#0.00	#FO 440 00	#0.00	Φ4 7 5
Type A - SY	16380.00	\$3.20	\$52,416.00	\$3.00	\$1.75
628.6505 - Soil Stabilizer Type A - ACRE	2.94	\$2,300.00	\$6,762.00 \$11,050.00	\$2,200.00 \$130.00	\$2,300.00
628.7020 - Inlet Protection Type D - EACH 628.7555 - Culvert Pipe Checks - EACH	85.00 2.00	\$130.00 \$160.00	\$11,050.00 \$320.00	\$120.00 \$150.00	\$95.00 \$20.00
629.0205 - Fertilizer Type A - CWT	1.00	\$160.00	\$320.00 \$160.00	\$150.00 \$150.00	\$20.00 \$70.00
629.0210 - Fertilizer Type B - CWT	7.99	\$160.00	\$1,278.40	\$150.00	\$70.00
630.0500 - Seed Water - MGAL	401.00	\$0.01	\$4.01	\$0.01	\$20.00
631.1000 - Sod Lawn - SY	190.00	\$16.00	\$3,040.00	\$15.00	\$10.00
		ψ.υ.υυ	Ψο,ο 10.00	Ψ.0.00	Ţ.J.J.

CONTRACT NO. 8717

DATE: 2/8/24				lasta amitu		
		Parisi Construction, LLC		Integrity Grading & Excavating,	Speedway Sand & Gravel, Inc.	
Item	Quantity	Price	Extension	Price	Price	
632.9101 - Landscape Planting Surveillance and Care Cycles - EACH 634.0809 - Posts Tubular Steel 2x2-Inch x	20.00	\$790.00	\$15,800.00	\$750.00	\$800.00	
9.5-FT - EACH 634.0810 - Posts Tubular Steel 2x2-Inch x	15.00	\$190.00	\$2,850.00	\$183.00	\$125.00	
10-FT - EACH 634.0811 - Posts Tubular Steel 2x2-Inch x	20.00	\$200.00	\$4,000.00	\$187.20	\$150.00	
11-FT - EACH 634.0812 - Posts Tubular Steel 2x2-Inch x	50.00	\$200.00	\$10,000.00	\$187.20	\$165.00	
12-FT - EACH 634.0814 - Posts Tubular Steel 2x2-Inch x	3.00	\$200.00	\$600.00	\$193.20	\$165.00	
14-FT - EACH 634.0816 - Posts Tubular Steel 2x2-Inch x	5.00	\$220.00	\$1,100.00	\$205.10	\$175.00	
16-FT - EACH 634.0885 - Posts Tubular Steel 2x2-Inch x	5.00	\$240.00	\$1,200.00	\$222.10	\$185.00	
8.5-FT - EACH	5.00	\$190.00	\$950.00	\$183.00	\$125.00	
637.2210 - Signs Type II Reflective H - SF	190.11	\$32.50	\$6,178.58	\$30.65	\$28.00	
637.2230 - Signs Type II Reflective F - SF	64.35	\$37.00	\$2,380.95	\$34.80	\$28.00	
638.2102 - Moving Signs Type II - EACH	17.00	\$79.00	\$1,343.00	\$75.00	\$140.00	
638.2602 - Removing Signs Type II - EACH 638.3000 - Removing Small Sign Supports	50.00	\$53.00	\$2,650.00	\$50.00	\$25.00	
- EACH 638.4000 - Moving Small Sign Supports -	51.00	\$130.00	\$6,630.00	\$125.00	\$25.00	
EACH	2.00	\$160.00	\$320.00	\$150.00	\$50.00	
643.0300 - Traffic Control Drums - DAY 643.0410 - Traffic Control Barricades Type	263910.00	\$0.05	\$13,195.50	\$0.05	\$0.05	
II - DAY 643.0420 - Traffic Control Barricades Type	18468.00	\$0.10	\$1,846.80	\$0.10	\$0.10	
III - DAY 643.0705 - Traffic Control Warning Lights	24396.00	\$0.15	\$3,659.40	\$0.15	\$0.15	
Type A - DAY 643.0715 - Traffic Control Warning Lights	42864.00	\$0.05	\$2,143.20	\$0.05	\$0.05	
Type C - DAY 643.0800 - Traffic Control Arrow Boards -	73188.00	\$0.05	\$3,659.40	\$0.05	\$0.05	
DAY	3990.00	\$5.30	\$21,147.00	\$5.00	\$5.00	
643.0900 - Traffic Control Signs - DAY 643.1050 - Traffic Control Signs PCMS -	74556.00	\$0.10	\$7,455.60	\$0.10	\$0.10	
DAY 643.3105 - Temporary Marking Line Paint	228.00	\$16.00	\$3,648.00	\$15.00	\$15.00	
4-Inch - LF 643.3505 - Temporary Marking Arrow Paint	41120.75	\$0.40	\$16,448.30	\$0.38	\$0.38	
- EACH 643.3605 - Temporary Marking Word Paint	12.00	\$110.00	\$1,320.00	\$100.00	\$100.00	
- EACH 643.3805 - Temporary Marking Stop Line	12.00	\$130.00	\$1,560.00	\$125.00	\$125.00	
Paint 18-Inch - LF	74.00	\$2.10	\$155.40	\$2.00	\$2.00	
643.5000 - Traffic Control - EACH	1.00	\$55,400.00	\$55,400.00	\$52,350.00	\$52,350.00	

CONTRACT NO. 8717

DATE: 2/8/24				Integrity		
No.	0 "	Parisi Construction, LLC			Speedway Sand & Gravel, Inc.	
Item	Quantity	Price	Extension	Price	Price	
644.1410 - Temporary Pedestrian Surface Asphalt - SF 644.1430 - Temporary Pedestrian Surface	1224.00	\$4.10	\$5,018.40	\$10.00	\$3.75	
Plate - SF 644.1601 - Temporary Pedestrian Curb	1224.00	\$16.25	\$19,890.00	\$3.00	\$5.00	
Ramp - DAY 644.1605 - Temporary Pedestrian	3876.00	\$10.50	\$40,698.00	\$10.00	\$10.00	
Detectable Warning Field - SF 644.1810 - Temporary Pedestrian	440.00	\$16.00	\$7,040.00	\$15.00	\$15.00	
Barricade - LF	2567.00	\$6.40	\$16,428.80	\$6.00	\$6.00	
646.1020 - Marking Line Epoxy 4-Inch - LF	4596.00	\$1.70	\$7,813.20	\$1.60	\$1.60	
646.5020 - Marking Arrow Epoxy - EACH	14.00	\$340.00	\$4,760.00	\$325.00	\$325.00	
646.5220 - Marking Symbol Epoxy - EACH 646.6005 - Marking Stop Line Paint 12-	8.00	\$250.00	\$2,000.00	\$235.00	\$235.00	
Inch - LF	14.00	\$13.25	\$185.50	\$12.50	\$12.50	
646.6220 - Marking Yield Line Epoxy 18- Inch - EACH 646.7420 - Marking Crosswalk Epoxy	28.00	\$37.00	\$1,036.00	\$35.00	\$35.00	
Transverse Line 6-Inch - LF	86.00	\$8.50	\$731.00	\$8.00	\$8.01	
646.8120 - Marking Curb Epoxy - LF	171.00	\$7.40	\$1,265.40	\$7.00	\$7.00	
646.8220 - Marking Island Nose Epoxy -			. ,			
EACH	23.00	\$340.00	\$7,820.00	\$320.00	\$320.00	
646.9300 - Marking Removal Special						
Marking - EACH 650.4000 - Construction Staking Storm	5.00	\$160.00	\$800.00	\$150.00	\$150.00	
Sewer - EACH	32.00	\$50.00	\$1,600.00	\$150.00	\$150.00	
650.5500 - Construction Staking Curb	02.00	ψου.σσ	ψ1,000.00	Ψ100.00	Ψ100.00	
Gutter and Curb & Gutter - LF	8934.00	\$0.50	\$4,467.00	\$3.00	\$3.00	
650.8501 - Construction Staking Electrical						
Installations (project) - EACH 650.9000 - Construction Staking Curb	1.00	\$2,500.00	\$2,500.00	\$800.00	\$8,000.00	
Ramps - EACH	130.00	\$50.00	\$6,500.00	\$200.00	\$200.00	
650.9500 - Construction Staking Sidewalk						
(project) - EACH	1.00	\$2,500.00	\$2,500.00	\$50,998.00	\$50,998.00	
650.9911 - Construction Staking Supplemental Control (project) - EACH 652.0225 - Conduit Rigid Nonmetallic	1.00	\$500.00	\$500.00	\$20,000.00	\$20,000.00	
Schedule 40 2-Inch - LF 652.0235 - Conduit Rigid Nonmetallic	1942.00	\$8.50	\$16,507.00	\$8.00	\$8.00	
Schedule 40 3-Inch - LF 652.0325 - Conduit Rigid Nonmetallic	568.00	\$9.50	\$5,396.00	\$9.00	\$9.00	
Schedule 80 2-Inch - LF	345.00	\$9.50	\$3,277.50	\$9.00	\$9.00	
652.0615 - Conduit Special 3-Inch - LF 652.0700.S - Install Conduit into Existing	830.00	\$37.00	\$30,710.00	\$35.00	\$35.00	
Item - EACH	35.00	\$160.00	\$5,600.00	\$150.00	\$150.00	
652.0900 - Loop Detector Slots - LF	1431.00	\$26.50	\$37,921.50	\$25.00	\$25.00	

CONTRACT NO. 8717

DATE: 2/8/24					
Item	Ougatitu	Parisi Construction, LLC		Integrity Grading & Excavating, Inc	Speedway Sand & Gravel, Inc. Price
	Quantity	Price	Extension	Price	
653.0900 - Adjusting Pull Boxes - EACH 653.0905 - Removing Pull Boxes - EACH 654.0110 - Concrete Bases Type 10 -	14.00 12.00	\$320.00 \$370.00	\$4,480.00 \$4,440.00	\$300.00 \$250.00	\$300.00 \$350.00
EACH 655.0230 - Cable Traffic Signal 5-14 AWG -	2.00	\$7,900.00	\$15,800.00	\$7,500.00	\$7,500.00
LF 655.0240 - Cable Traffic Signal 7-14 AWG -	872.00	\$1.60	\$1,395.20	\$1.50	\$1.50
LF 655.0260 - Cable Traffic Signal 12-14	1514.00	\$1.80	\$2,725.20	\$1.70	\$1.70
AWG - LF 655.0270 - Cable Traffic Signal 15-14	1479.00	\$2.70	\$3,993.30	\$2.50	\$2.50
AWG - LF 655.0290 - Cable Traffic Signal 21-14	905.00	\$3.40	\$3,077.00	\$3.20	\$3.20
AWG - LF 655.0325 - Cable Type UF 2-8 AWG	128.00	\$6.40	\$819.20	\$6.00	\$6.00
Grounded - LF 655.0515 - Electrical Wire Traffic Signals	777.00	\$4.20	\$3,263.40	\$4.00	\$4.00
10 AWG - LF 655.0620 - Electrical Wire Lighting 8 AWG -	1791.00	\$1.30	\$2,328.30	\$1.20	\$1.20
LF 655.0630 - Electrical Wire Lighting 4 AWG -	4399.00	\$1.50	\$6,598.50	\$1.40	\$1.40
LF	13197.00	\$3.20	\$42,230.40	\$3.00	\$3.00
690.0150 - Sawing Asphalt - LF	3801.00	\$1.90	\$7,221.90	\$1.39	\$1.75
690.0250 - Sawing Concrete - LF 715.0720 - Incentive Compressive	5265.00	\$2.50	\$13,162.50	\$1.90	\$2.35
Strength Concrete Pavement - DOL SPV.0035.002 - Excavation, Hauling, Segregation, and Disposal of	530.00	\$1.00	\$530.00	\$1.00	\$1.00
Contaminated Soil - TON SPV.0035.501 - Terrace Excavation For	15.00	\$200.00	\$3,000.00	\$154.44	\$222.00
Tree Planting - CY SPV.0060.002 - Concrete Curb & Gutter	532.00	\$64.00	\$34,048.00	\$70.12	\$60.00
Bike Ramp Special - EACH	4.00	\$4,400.00	\$17,600.00	\$7,500.00	\$3,595.00
SPV.0060.003 - Bike Rack - EACH SPV.0060.103 - Two Stage Left Turn Bike	5.00	\$1,400.00	\$7,000.00	\$1,379.14	\$1,075.00
Box - EACH SPV.0060.201 - Install Electrical Pull Box	8.00	\$1,300.00	\$10,400.00	\$1,250.00	\$1,250.00
Type I - EACH SPV.0060.202 - Install Electrical Pull Box	4.00	\$530.00	\$2,120.00	\$500.00	\$500.00
Type III - EACH SPV.0060.203 - Install Electrical Pull Box	7.00	\$320.00	\$2,240.00	\$300.00	\$300.00
Type V - EACH SPV.0060.204 - Concrete Bases Type G -	7.00	\$850.00	\$5,950.00	\$800.00	\$800.00
EACH SPV.0060.205 - Concrete Bases Type LB-	11.00	\$850.00	\$9,350.00	\$800.00	\$800.00
3 - EACH SPV.0060.206 - Concrete Bases Type LB-	3.00	\$1,100.00	\$3,300.00	\$1,000.00	\$1,000.00
8 - EACH	4.00	\$1,300.00	\$5,200.00	\$1,200.00	\$1,200.00

CONTRACT NO. 8717

DATE: 2/8/24				lanka avvidu r	
			struction, LLC	Integrity Grading & Excavating, Inc	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price
SPV.0060.207 - Concrete Bases Type P - EACH SPV.0060.209 - Install Pole 20-Foot 7	2.00	\$2,100.00	\$4,200.00	\$2,000.00	\$2,000.00
Gauge - EACH SPV.0060.211 - Install Pole 30-Foot 7	2.00	\$420.00	\$840.00	\$400.00	\$400.00
Gauge Twin Mount - EACH SPV.0060.212 - Install Pole 30-Foot 11	2.00	\$530.00	\$1,060.00	\$500.00	\$500.00
Gauge Single Mount - EACH SPV.0060.216 - Install Traffic Signal	3.00	\$530.00	\$1,590.00	\$500.00	\$500.00
Trombone Arm 15-Foot - EACH SPV.0060.220 - Install Traffic Signal	2.00	\$260.00	\$520.00	\$250.00	\$250.00
Heads 12-Inch 3-Section - EACH SPV.0060.223 - Install Traffic Signal	26.00	\$320.00	\$8,320.00	\$300.00	\$300.00
Heads 12-Inch 3-Section Transit - EACH SPV.0060.224 - Install Traffic Signal	2.00	\$320.00	\$640.00	\$300.00	\$300.00
Heads 16-Inch Pedestrian With Countdown - EACH SPV.0060.225 - Install Backplates Signal	12.00	\$320.00	\$3,840.00	\$300.00	\$300.00
Face 3-Section 12-Inch - EACH SPV.0060.229 - Install NEMA TS2 Type 1	28.00	\$26.50	\$742.00	\$25.00	\$25.00
Traffic Controller Cabinet - EACH SPV.0060.230 - Install Traffic Signal Controller - EACH SPV.0060.234 - Install LED Luminaire and	1.00	\$2,600.00	\$2,600.00	\$2,500.00	\$2,500.00
	1.00	\$210.00	\$210.00	\$200.00	\$200.00
Mounting Bracket Type III - EACH SPV.0060.243 - Removing Street Lighting	7.00	\$110.00	\$770.00	\$100.00	\$100.00
Assembly - EACH SPV.0060.246 - Install Electrical Pull Box	5.00	\$530.00	\$2,650.00	\$500.00	\$500.00
Type VII - EACH SPV.0060.264 - Install Lighting Control Cabinet - EACH SPV.0060.265 - Install Traffic Signal	1.00	\$1,300.00	\$1,300.00	\$1,200.00	\$1,200.00
	1.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00
Trombone Arm 12-Foot - EACH SPV.0060.272 - Install PTZ Camera -	2.00	\$210.00	\$420.00	\$200.00	\$200.00
EACH SPV.0060.273 - Install Pedestal Bases -	1.00	\$530.00	\$530.00	\$500.00	\$500.00
EACH	11.00	\$110.00	\$1,210.00	\$100.00	\$100.00
SPV.0060.274 - Install Transformer Bases Breakaway 11 1/2-Inch Bolt Circle - EACH SPV.0060.276 - Install Traffic Signal	7.00	\$110.00	\$770.00	\$100.00	\$100.00
Standards Aluminum 3.5-FT - EACH SPV.0060.277 - Install Traffic Signal	1.00	\$110.00	\$110.00	\$100.00	\$100.00
Standards Aluminum 13-FT - EACH SPV.0060.280 - Install Traffic Signal	7.00	\$110.00	\$770.00	\$100.00	\$100.00
Standards Aluminum 10-FT - EACH SPV.0060.286 - Install Poles Type 10 -	3.00	\$110.00	\$330.00	\$100.00	\$100.00
EACH	2.00	\$2,600.00	\$5,200.00	\$2,500.00	\$2,500.00

CONTRACT NO. 8717

DATE: 2/8/24				loto avitu		
		Parisi Construction, LLC		Integrity Grading & Excavating,	Speedway Sand & Gravel, Inc.	
Item	Quantity	Price	Extension	Price	Price	
SPV.0060.287 - Install Monotube Arms 25- Foot - EACH SPV.0060.288 - Install Platform APS	1.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	
System 13 Push Buttons - EACH SPV.0060.289 - Optical Signal Preempt	1.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	
System Mineral Point & Whitney Way - EACH SPV.0060.290 - Install LED Luminaire and	1.00	\$12,700.00	\$12,700.00	\$12,000.00	\$12,000.00	
Mounting Bracket Type VII - EACH SPV.0060.291 - Install Monotube Arms 30-	4.00	\$110.00	\$440.00	\$100.00	\$100.00	
Foot - EACH SPV.0060.292 - Salvage PTZ Camera -	1.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	
EACH	1.00	\$210.00	\$210.00	\$100.00	\$200.00	
SPV.0060.501 - Tree Protection - EACH SPV.0060.504.04 - Trees (Hackberry,	23.00	\$740.00	\$17,020.00	\$700.00	\$275.00	
B&B, 2-IN) - EACH SPV.0060.504.05 - Trees (Kentucky	6.00	\$420.00	\$2,520.00	\$400.00	\$695.00	
Coffee Tree, B&B, 2-IN) - EACH SPV.0060.504.06 - Trees (Skyline Thornless Honey Locust, B&B, 2-IN) -	7.00	\$420.00	\$2,940.00	\$400.00	\$695.00	
EACH SPV.0060.504.07 - Trees (Exclamation	2.00	\$410.00	\$820.00	\$390.00	\$695.00	
London Planetree, B&B, 2-IN) - EACH SPV.0060.504.09 - Trees (Chinquapin	5.00	\$420.00	\$2,100.00	\$394.00	\$695.00	
Oak, B&B, 2-IN) - EACH SPV.0060.504.11 - Trees (American	3.00	\$420.00	\$1,260.00	\$394.00	\$695.00	
Sentry Linden, B&B, 2-IN) - EACH SPV.0060.504.14 - Trees (New Horizon	5.00	\$410.00	\$2,050.00	\$390.00	\$695.00	
Elm, B&B, 2-IN) - EACH SPV.0060.504.19 - Trees (Linden 'Sweet	1.00	\$410.00	\$410.00	\$390.00	\$695.00	
Street', B&B, 2-IN) - EACH SPV.0060.504.20 - Trees (Honeylocust	3.00	\$380.00	\$1,140.00	\$356.00	\$695.00	
'Street Keeper', B&B, 2-IN) - EACH SPV.0060.504.21 - Trees (Ginkgo	3.00	\$400.00	\$1,200.00	\$380.00	\$695.00	
'Princeton Sentry', B&B, 2-IN) - EACH SPV.0060.504.23 - Trees (Adirondack	5.00	\$420.00	\$2,100.00	\$396.00	\$695.00	
Crabapple, B&B, 2-IN) - EACH SPV.0060.601 - Saddled Inlet Type I -	1.00	\$350.00	\$350.00	\$330.00	\$695.00	
EACH	4.00	\$2,500.00	\$10,000.00	\$14,805.42	\$4,260.00	
SPV.0060.606 - Storm Sewer Tap - EACH	15.00	\$2,600.00	\$39,000.00	\$977.79	\$1,875.00	
SPV.0060.609 - Relocate Hydrant - EACH SPV.0060.613 - Adjust Water Valve Box -	9.00	\$9,700.00	\$87,300.00	\$7,822.32	\$5,600.00	
EACH SPV.0060.614 - Connect Pipe Underdrain	22.00	\$340.00	\$7,480.00	\$1,291.79	\$427.00	
to Existing Structure - EACH SPV.0060.620 - Manhole Cover Type J-	10.00	\$1,400.00	\$14,000.00	\$894.38	\$315.00	
Special - EACH	7.00	\$950.00	\$6,650.00	\$1,318.38	\$770.00	

CONTRACT NO. 8717

DATE: 2/8/24				lasta austra	
		Parisi Construction, LLC		Integrity Grading & Excavating, Inc	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price
SPV.0060.625 - Inlet Casting Offset - EACH SPV.0060.631 - Furnish & Install Insulation	1.00	\$3,800.00	\$3,800.00	\$1,879.80	\$1,725.00
- EACH SPV.0060.636 - PVC 12" Drain Basin with	6.00	\$230.00	\$1,380.00	\$929.11	\$200.00
Grate - EACH SPV.0060.637 - Utility Line Opening -	2.00	\$3,100.00	\$6,200.00	\$2,145.51	\$3,380.00
EACH	5.00	\$610.00	\$3,050.00	\$3,216.20	\$2,250.00
SPV.0085.501 - Seeding - LB	503.00	\$10.50	\$5,281.50	\$10.00	\$9.75
SPV.0090.003 - Concrete Curb & Gutter 24-Inch Type H Special - LF SPV.0090.009 - Concrete Curb & Gutter	950.00	\$53.00	\$50,350.00	\$58.00	\$57.95
30-Inch Type X Special - LF SPV.0090.018 - Concrete Curb & Gutter	117.00	\$41.25	\$4,826.25	\$58.00	\$57.90
24-Inch Type A - LF SPV.0090.021 - Concrete Pedestrian Curb	278.00	\$40.50	\$11,259.00	\$58.00	\$57.95
Special - LF SPV.0090.022 - Remove, Salvage and	30.00	\$58.00	\$1,740.00	\$65.00	\$50.65
Reinstall Fence - LF SPV.0090.101 - Pavement Marking Epoxy	140.00	\$85.00	\$11,900.00	\$20.00	\$150.00
Continental Crosswalk 18-Inch - LF SPV.0090.102 - Pavement Marking Epoxy	12424.00	\$16.00	\$198,784.00	\$15.00	\$15.00
Stop Line 24-Inch - LF SPV.0090.103 - Pavement Marking Epoxy	680.00	\$19.50	\$13,260.00	\$18.50	\$18.50
Line 6-Inch - LF SPV.0090.104 - Pavement Marking Epoxy	400.00	\$1.90	\$760.00	\$1.75	\$1.75
Line 8-Inch - LF SPV.0090.106 - Pavement Marking Epoxy	1493.00	\$2.00	\$2,986.00	\$1.90	\$1.90
Diagonal Line 8-Inch - LF SPV.0090.109 - Marking Removal	130.00	\$6.40	\$832.00	\$6.00	\$6.00
Longitudinal Line 8-Inch Wide Max - LF SPV.0090.110 - Marking Removal Wide	6498.00	\$1.80	\$11,696.40	\$1.68	\$1.68
Line Greater Than 8-Inch Wide - LF SPV.0090.111 - Marking Removals	861.00	\$5.30 \$10.50	\$4,563.30 \$3,373.00	\$5.00 \$10.00	\$5.00
Ladder/Continental Crosswalks - LF SPV.0090.113 - Marking Crosswalk Epoxy Transverse Line 12-Inch - LF	226.00 1751.00	\$10.50 \$14.25	\$2,373.00 \$24,951.75	\$10.00 \$13.50	\$10.00 \$13.50
SPV.0090.114 - Pavement Marking Epoxy Lane Line 4-Inch - LF	3002.00	\$4.10	\$12,308.20	\$3.90	\$3.90
SPV.0090.201 - Loop Detector Lead-In Cable Special - LF		\$2.10		\$2.00	
SPV.0090.202 - Electrical Wire Lighting 14-			\$36,498.00		\$2.00
3 UF Grounded - LF SPV.0090.209 - Sawed in Bicycle Loop	7397.00	\$2.10	\$15,533.70	\$1.00	\$2.00
Detection - LF SPV.0090.402 - Railing Steel Special - LF	1023.00 1900.00	\$31.75 \$280.00	\$32,480.25 \$532,000.00	\$30.00 \$366.24	\$30.00 \$304.00
SPV.0090.635 - Surface Drain Pipe Corrugated Plastic Slotted - LF	165.00	\$1.00	\$165.00	\$218.30	\$175.00

CONTRACT NO. 8717

DATE: 2/8/24

		Parisi Cons	struction, LLC	Integrity Grading & Excavating, Inc	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price
SPV.0090.635 - Surface Drain Pipe					
Corrugated Plastic Slotted - LF	165.00	\$1.00	\$165.00	\$218.30	\$175.00
SPV.0105.2004 - Install Electrical Service					
Meter Breaker Pedestal (Whitney Way) - LS SPV.0105.2005 - Removing Traffic Signals	1.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00
(Whitney Way) - LS	1.00	\$2,600.00	\$2,600.00	\$2,500.00	\$2,500.00
SPV.0105.2006 - Install Signal Mounting Hardware (Whitney Way) - LS	1.00	\$1,100.00	\$1,100.00	\$1,000.00	\$100.00
SPV.0105.209 - Temporary Traffic Signal (Whitney Way) - LS	1.00	\$158,800.00	\$158,800.00	\$150,000.00	\$150,000.00
SPV.0105.256 - Temporary Street Lighting - LS	1.00	\$26,500.00	\$26,500.00	\$25,000.00	\$25,000.00
SPV.0165.004 - Remove, Salvage, and Reinstall Pavers - SF SPV.0165.102 - Skid/Slip Resistant	49.00	\$79.00	\$3,871.00	\$75.00	\$40.00
Preformed Thermoplastic Pavement Marking Bike Lane Green - SF SPV.0165.103 - Methyl Methacrylate Bike	12925.00	\$11.75	\$151,868.75	\$11.00	\$11.00
Lane Green - SF SPV.0165.404 - Wall Modular Block	2099.00	\$14.00	\$29,386.00	\$13.25	\$14.00
Gravity - SF	6000.00	\$180.00	\$1,080,000.00	\$168.12	\$132.35
SPV.0180.501 - Sodding Bluegrass - SY	120.00	\$16.00	\$1,920.00	\$15.00	\$10.00
SPV.0180.502 - Native Vegetated Mat - SY	200.00	\$60.00	\$12,000.00	\$90.00	\$80.00
SPV.0180.502 - Native Vegetated Mat - SY	200.00	\$60.00	\$12,000.00	\$90.00	\$80.00
229 Items	Totals		\$6,943,200.00		
<u> </u>			M4 770 00		

Agency Estima

\$1,770.00